EGR OELETE KIT

6.6L Duramax

it MRS T
;‘J":N;@FS,\:@R Qﬂ@y M@’?

support@minimaxxtuner.com

@& www.minimaxxtuner.com

o Minimaxxtuner



MINIMAXTUNER R\V e

/A\ WARNING REGARDING EMISSIONS LAWS

Not legal for sale or use on pollution-controlled motor vehicles anywhere
in the United States. Legal ONLY for of-road competition racing vehicles
and cannot be used on vehicles that are operated on public streets, roads,
or highways.

A\ DISCLAIMER

1) By installing this product onto your vehicle, you assume all risk and liability associated with its use.
2) It is your responsibility to make sure your vehicle complies with all federal, state, and local
emissions laws.Federal and many state and local laws prohibit the removal, modifcation or
rendering inoperative of any part of the design afecting emissions or safety on motor vehicles
used on a public street or highway. Violation may result in a fne of up to $32,500 per vehicle
(or possibly higher depending on changes in the law). All civil penalties and fnes for removing
your vehicle's emissions equipment are the sole responsibility of the end user.

3) Due to its high performance nature, this product may void vehicle manufacturer's warranty.

4) We're not responsible for misuse of its products. By installing this product, you reiease us of
any and all liability associated with its use.

5) Depending on where you live, restrictions may apply. Check all applicable laws before
installing or using!

6) The purchaser and end user releases, indemnifes, discharges and holds harmless us from
any and all claims, damages, causes of action, injuries, or expenses resulting from or relating to
the use or installation of this product that is in violation of the terms and conditions on this page
the product disclaimer, and/or the product installation instructions. We will not be liable for any
direct, indirect, consequential, exemplary, punitive, statutory, or incidental damages or fnes caused
by the use or installation of this product.

PACKING LIST:

1 X Intake Charge Pipe w/ O-Ring
1 X Exhaust Block Ou Plate

1 X Support Bracket Washer

2 X 1-1/16” Hose Clamps -
1 X “U’Shaped CoolantTube l‘l;l |

2 X M8x25 Socket Head Bolts “=, _*8 ¢ :
3 X M8x25 Hex Head Bolts S @

1 X M10x20 Hex Head Bolt

— Minimaxxtuner Q
WWW.minimaxxtuner.com A\ [f)




MINIMAXTUNER R\Y R

& NOTE: Prior to installation, please compare the partsthat you have
received with the bill of materials provided on this page to assure that you
have all the parts necessary for the installation.

/\ CAUTION!!! NEVER WORK ON A HOT VEHICLE.
Serious injury in the form of burns can result if the vehicle has been in use.
Allow vehicle to cool prior to installation.

Always wear eye protection when working on or under any vehicle.

& NOTE: with a used vehicle, we suggest using a penetrating spray
spray lubricant to be applied liberally to all exhaust fasteners. When
doing so allow a signifcant amount of time for the chemical to lubricate
the threads before attempting to disassemble.

Step 1: Disconnect batteries.

(Image 1)

Step 2: Drain engine coolant by removing the Step 4. Remove the intake tube that isrouted

passenger side inner wheel well and fromthe filterto the plastic turbo mouthpiece.
disconnecting the lowerradiatorlineby removing  (Image 2)
the metal clip.

(Note: The line does not need to pulled all the
way ou, just enoughtoallowcoolanttoflowout.)
Oncecoolantflowhassloweddown and the
overflow bottle is empty, re-connect the lower
radiator line. (Image 1)

Step 3: Loosen the hose clamps on the intake
and disconnect the MAF sensor connector.

o Minimaxxtuner

Q www.minimaxxtuner.com \\




CEEIED

Step 5: Remove the air box and filter, by gently prying outthe three rubbergrommets.
(Image3)

Step 6: Remove the resonator box on top of the
engine by loosening the hose clamp at the base
of the resonator box and remove the long bolt
on the front of the resonator box. (Image4)

Step 7: Disconnect the charge-back wire on the
alternator and remove the plastic clip that holds
the wiring harness to the plastic wireway.
(Image 5)

Step 8: Open the plastic housing on top of the
intake heater grid and disconnect the
powerwire. (Image 6)

\

www.minimaxxtuner.com

Step 9: Remove the two bolts and one nut that
secure the plastic wire way in place.
(Image 7)

Step 10: Disconnect the wire connector on the
front ofthe intake heater grid and remove the
bolt thatsecuresthe connectorwiresto the side
of the intake. {Image 8)

Step 11: Remove the plastic clip that is also
holding part of the wire in place. (Image 8)

Step 12: Pop out the metal retaining clip on the
plastic intercooler piping and disconnect the
plastic piece from the cast aluminum piece.

flraansa ON

. . ‘/..'1
@ Minimaxxtuner “ﬁ




CEEITIED \\

Step 13: Remove the wire connector and the
four bolts that hold the forward most section of
the cast intercocler piping on to the intermediate
section. on the bottom of the forward most
piece, there is a fifth bolt that secures itto a
support bracket. (Circled in Image 9)

Step 14: Carefully remove the forward most
piece of the cast intercooler piping.

As well as the butterfly valve end hard plastic
tubing shown in image. Cover the flexible boot
with bag to keep debris and coolant out of the
intercooler. (Image10)

Step 15: Remove the small tube thatis attached
to the castintake, next to the intake heater grid.
(Imege 11)

(Image 13)

Q wWww.minimaxxtuner.com MW

(Image 12)

Step 16: Remove the four nuts and two bolts
that hold the main section of the cast intake in
place. It may be easier to remove the intake from
the truck if you remove the two studs with a
reversed forx socket. (Note: two bolts are located
on the back side of the main section of the cast
intake.) (Image12)

Step 17: Remove the PCV tube from the driver
and passenger side valve covers as well as the
plastic turbo mouthpiece. (Image 13)

Step 18: Remove the plastic turbo mouthpiece
by loosening the hose clamp thatsecures the
mouthpiece tc the turbo.

o Minimaxxtuner




CEEED \ N

Step 19: Remcve the two temperature sensors from the EGR cocler on the passenger side.
(Image 14 and 15)

PREPA

(Image 14)% 'S

Step 20: Disconnect all of the coolantlinesthat are running to the EGR cooler.

Step 21: Remove the EGR cooler that is secured by six bolts. Four at the back of the cooler
(two bolts are facing forward anc two are facing downward) and two rear facing bolts at the front
of the cooler.

Step 22: Once the cocdler is out, disconnect the temperature sensors at the electrical connectors
and remove them from the vehicle.

L Step 23: Remove the EGR valve that is held in
_ place with two bolts, keep one of these bolis as
it will be used during installation. (Image 16)

Step 24: Remove the coolant lines that
previously ran from the EGR cooler
to the firewall.

Step 25: Install the new exhaust block ou plate
using the factary gasket and the supplied
hardware. Two M8 x 20 hex head bolts will bolt
in from the back and one M10 x 20 hex head
bolt will hold the bracket in place. (Image 17)

Step 26: Using the supplied hose clamps install
the supplied “U” shaped coolant tube from one
port on the firewall back to the other port on the
firewall. Both of these ports previously had
coolant lines that ran to the EGR cooler.
(Image 17)

o Minimaxxtuner Q

Www.minimaxxtuner.com W




CEEIIED W

Step 27: Remove plastic cover from wiring Step 28: Install new intake tube. It helps to
harness to tuck harness under new charge slide the tube into the rubber tube first.
pipe. (Image18) Then bolt the flanged end on after. (Image 19)

Step 29: Transfer the pressure sensor from the stock charge pipe over to the new charge pipe.
The mounting bracket will need to be turned 180" cn the sensor to allow mcunting to the new
charge pipe. (image20 and 21)

(Image 23)

Step 30: Re-connect the charge-back wire to Step 31: Install the intake resonator box on top

the top of the alternator. (Image 22) ofthe plastic turbo mouthpiece and secure it with
the hose clamp on the bottom and the long bolt
at the front of the resonator box. (Image 23)

— Minimaxxtuner
Q www.minimaxxtuner.com \\ o




CEEIED W

Step 32: Re-install the air intake and plug in
the mass air flow sensor. (Image 24)

Step 33: After everything is tight, refill the
vehicle with coolant through the overflow bottle.

Step 34: Re-connect batteries.

Step 35: Start the engine and let it run for a few
minutes. check for any leaks and if needed top
ou the coolant.

NOTE: Check coolant after driving, add coolant as necessary.

.. //‘
(] Minimaxxtuner ~Q

Www.minimaxxtuner.com W

W5 WORLDWIDE FREE SHIPPING ¥y REWARDS PROGRAM )  SECURESHOPPING (' 30-DAY FREE RETURNS



